Trig 5.5

Evaluate inverse trig functions
Find missing angle measurements
Solve right triangles
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Trigonometric Function

Inverse Trigonometric Relation

Inverses of the y = sin X

X = sin 1yorx= arcsin y

Trigonometric
Functions y = cos X

X =cos~! yor X = arccos y

y=tanx

r‘ X = tan 1yorx=orc10ny
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o Solve each gguation.
What angle has ( ) for a sine?
a. sinx Could be more than one answer (quadrants...)
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Use reference triangles...

e Evaluate each t‘\pl ession. Assume that all angles are in Quadrant L
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Find a specific value or "solve"
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Triangle nomenclature:
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one
Solve each problem. Round to the nearest tenth.

r=?ands= 10, find R. = Sg‘

10.If r=12and t = 20, find S.
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Solve each triangle described, given the triangle at the
right. Round to the nearest tenth if necessary.

11.B=78",a=41
12.a=11,b=21
13.A=32°,c=13







